1a.  2kg; kilograms is a measure of mass. 2 kg > 1 kg

1b. 2 kg; more mass = more inertia

2a. the car slows down/ stops

2b. your body keeps moving.
2c. the brakes only apply a force to the car, not your body.

3a. Decreasing

3b. Acceleration

3c. Friction

4a. recoil/kick/force on his shoulder; the gun pushes the bullet forward so the bullet pushes the gun backward.

4b. the bullet has less mass than the gun.

5a. the ball appears to roll backward 

5b. the ball does not move relative to the ground

6. Less force is needed to overcome the friction between wood and the socks.

7a. -133N

7b. increasing

7c. 0 Newtons

7d. constant

8. variables: F=200N, vi= 0m/s, vf= 12 m/s, t=0.25s

a=( vf - vi )/ t = 48 m/s2
F=ma ( m=4.2 N

9a. 2400 N

9b. The force slightly decelerates the bus but not enough to notice.

10. kilograms

11. Newtons

12. Newtons

13. m/s2
14a. No, the driver will still decelerate from full speed to a stop.

14b. Yes, the airbags make the person decelerate over a longer period of time.

14c. No, if the change in speed (deceleration) is the same , the force must be the same (F=ma). Airbags just spread the force out over a longer period of time.

15. F=ma,
m= 56 kg
a= acceleration of gravity= =9.81 m/s2 


(  Ms. Housers’s weight (force) = 549 N 
